4) Circle
r=7.05ft

d=14.11t

C=141nft
=44.3ft

A =156 ft?

Geometry Review 2.2 KEY
Algebra?2
Find the missing measures. Give circumference and area in terms of pi and to the nearest tenth.
1) Circle 2) Circle 3) Circle
radius=18in r=22.5mm r=1512m
diameter = 18in (2) d=45mm d=30.24m
=36in
Circum. =367 in C =45t mm = 141.4 mm C=9%m
=113.1in
Area= 324min2 A = 506.25tmm? A =228.6nt m?
=1017.9in? = 1590 mm? =718.17 m?

Find the length of minor arc AB using a proportion.

5) ﬂB 6) 4 7)
A
B
X 71 ° x 133
93cm  360° 2107 360°
x=1834cm x=77.58ft
Find the area of the sector using a proportion.
10)
9%
87cm®  360° x = 288 ft2

x=2248cm"

X=26.71n

1)

8)
B i
A
X=545m
12)
103
d=19m
X = 57.53m?2



Find the length of the missing side.

13) 14) 15) 16) 24
15 4
6 26
8

16
a4 bh? =2 a‘y bt =
g2 115% = 2 3 htg?
64+225=¢" 04+h%=136
c=16.49 b=10
289 =¢* hE=0y
289 = 4ot B2 =27

Given the length of one side of the 45-45-90 triangle at the right find the other two sides to the nearest tenth..

17) J=15 18) K =14
K =15 J=14
L=15-2 L =142
19) K=6 20) L= 20,2 ]
J=6 K =20
L =6~/2 J=20
21) L= 11,2 22) J= 32



23) L =18 24) J=17

K =17
o 18 N2
N
g::lE::E L=17~2
E =02
J =02
25) K=1042 26) L=8
J=10~2 K=4~2
L=20 J=4-2

Given the length of one side of the 30-60-90 triangle at the right find the other sides to the nearest tenth.
27) U=5 28) U=15

T=53 T =153
=10 V=30
29) V=16 30) T= 12,53
=8 r=12
T=843 V=24 ;
31) U=9 32) V=32
T=0.3 U=16
=18 T =163
33) T=7.3 34) U=243
=233
=- T=.'—}"3
=14 T'=06
V=43



35) U= 133

T=13-33
T =133
T =39

0



